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OHI& 23 FE &3 5,000,002 *1H £ 5,000
OHI& A3 &E & 1,500,0002 1074 2 15,000
AYHYHE 123,250 92,200 31,050
206 TH2 bl 69,310 72,840 £3,530
01 THEHl 69,310 72,840 £3,530
OSHTHE & 4 5 o4 1,300,0002 10 & 3,000
Ogelwrs0tA3 200, 00024 #3074 6,000
SRS 15,0002 * 100 1,500
ONIRSH 45 20,0002 +8LH +523| 8,320
O119P 2% MASH 15,0002 *8CH 73] 840
O119720 SSHAS
1,000, 0002 +8C4 x23] 16,000
O119ENTE: 25 D& 1,000, 000! #42H £ 4,000
OzdseY 226 50,0002 +20H 1,000
OO E FMIINE 80,0002 +35 K| £ 2,800
OHAMN 228 5,000%! 60074 3,000
OLAHINE BE= 250,000 * 10 2,500
OB s SHOS X 1,350
- 43| 25,0002 304 750
—SSARE AN 20,0002 +30H 600
OFAANE JELYANL 23 9,000
- 28] 25, 000! *2007H 5,000
—HSAEE L) 20,0002 +20004 4,000
405 TH&HF St 53,940 19,360 34,580
NETEEEEE 53,940 19,360 34,580
OBHH & & F bl 9,240
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== 4,141,600 x3H x12& 149,098
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- AgE 2,705,400) x50H x12& 1,623,240
- g 2,015,800& x32H x12& 774,068
— A} 1,672,000 42 x12& 842,688
o8z2+4 359,492
Ox2RE 1,713,972
—AZ2A2 R 1,063,723
- 02224 408,190
-52422+E 242,059
(OFSRL R 725,135
-ExY 133,680
o < Xt 40,0003 x150H 128 72,000
A EH S 20,000& *226H x12& 54,240
Iha 2 7,440
-AHEH BT Y 44,544
DNEsw(12X) 464,000 *24H *4 3] 44 544
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oa2g3d, < 155,000& x41H 128 76,260
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Oagn, At 105,000& x74H 128 93,240
JlE &l 345,291 391,832 A 46,541
JlE&l 345,291 391,832 A 46,541
201 £B-2%H| 116,549 134,488 A 17,939
01 At 22l 110,549 130,888 A 20,339
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—ARE M4 300, 0002 9K 2,700
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ONMIEDI 1,000
odogR4a0013a 400, 000& *6H 2,400
WRES(HESRAYAN) 156,300 194,400 38,100
SHXNE 156,300 194,400 38,100
EXdRE 156,300 194,400 238,100
311 X+ S 01 Xk &k & 6,300 14,400 A 8,100
05 JIEHXH S 01 At & & 6,300 14,400 A 8,100
OFFSEAEAN MUF 3,600
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